-

SSESESSEESEEEEEESESSSSBHBEBEBEEERS

R P N T 5 e 17 8 lo T T4 T2 13 14 s e 117 T4 l1e T2o  T21 Ta2 Taz 124 125 126 l27 |
13, 108Sq E
_ _ M6x16 THREADED
@12, HOLE 4Nos CENTER HOLE
[aa) on 165 PCD
| ] B
d O\ [ ]
+0.009 QY ‘uﬂd M~
~0.004 \, = -
. 819 5 EXTENTION DETAILS
o5 — \ =T D
e, \ ,
s & _ ® :
& 8 —+— =+ - - - . 0 1T
Ay — | A
A3 N
30 / == ||
\. = |w
- D)
o [
[
- | \ L
c
3 — — e M25x1.5P
1-NO
~0.1| |
40 1 530
15.0 | [ |
_ 276
I
NAME PLATE DETAILS (1S12615:2018) B
TERMINAL BOX_ DETAILS Merking pm
e N M5-3 Stud Frame LE 80
@, — % ~ Terminal Board Duty s1
{ Class of Insulation F
\ Frequency, Hz 50+5%
Pole 2
mw k @ M5—1 EARTH SCREW Connection STAR —
» Output in KW 0.75
\‘o} Voltage in Volts 415+£10%
- o/ 4 F.L.Current in Amps 2
Speed in RPM 2840 A
Q % Efficiency 80.7(IE3)
/ ,\ Brg.(DE) 6204 2RS C3
& }) Brg.(NDE) 6204 2RS C3
Power Factor 0.82
Protection IP55
ALL DIMENSIONS ARE IN mm M”mmmmwo M.mﬂn 17-06-2024 LAKSHMI ELECTRICAL DRIVES PRIVATE LIMITED
GENERAL TOLERANCES 17-06-2024 COIMBATORE — 641 004
LINEAR APPROVED K.K.N 17-06—-2024
ABOVE| o | 30 |100| 300 SCALE NTS
DIMENSIONS G.A DRAWING
(MACHINING) | UPTO_| 30 | 100 | 300 | 1000 QUANTITY 1 No oTaH 3 POLE I3 .m. @
TOL |40.2|+0.3]|+0.5| +£0.8 MATERIAL - : ’ ’
. DCR. SIGN/ | weiGHT ROUGH MODEL| LE 80 |DRG.No. LEHO8025001 |REV-
ANGLES +1/2 No |ZONE ALTERATIONS DATE | IN kg. FINISHED ° No | %©




